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Wﬂnn 335 is added to 5AT, the: meull:as 8p2.
mﬂmﬁmaﬂebyﬂ Whatistheiargﬁt

: anmmhlevaiue of A2 i e
REVE B 2 s
© 1 1) SR e

~ The greateslz ‘Hilglt nnmhe:r eiacﬂy divisible | *

by 10, 15; Eﬂ is

{A) 9990 ¢ (B) 6960
(Cy 9980 ' {D} 9995 . !
Wl:uch me uf the numbera is chvm’h’ie by 25 R
(A) 3{1!331!} (B) 373355
(C) 303375 (D) 22040°
Find the sum of :

—-L+ .1-— 7 + e + .
TN 4 YR B el K

iy
i 4

© (D) D) ; i D W

In a elass there ara 'z’ studenif?;.-[mt nlf them

x are boye. What part of the elass is) SF
:mmposedurg:ﬂs‘? i :

&) & "By &
7 =
S =, NgUay = 0 L
O D) -1
e T z

If the students of 9 class are arranged in |-

rows of 6, 8, 12 or 16, no student iz left
behind. Then the posaible number of students
in the class is

{A) 60 B 72

() 80 o 96

The unit digit in 3 x 38 537 % 1256 is
(A) 4 . B):2

(€ 6 O

i a clock strikes appropriate number of times
4t each hour, how many times mll it strikein |-

9.. Fi‘nﬂ thﬁvﬂ]u&nf JEB+,JEH+ .,‘3l]+ :

E*}J 5= ] 31’1_6
.___TE{:‘ Mﬂt&rm:ntbqstqueme
o ©0,7,26,68,124,217 is

CA).217 B

(C) ?En (D) 63

]f:v: men can &D a ﬁew of work inx da;;&, then

. the number of daysin which ¥ men can do the..

same work is

(A) -].1'.3" ﬁaﬁ; {313 ﬁ@a
. iz

(C) — d.;ies B“} tydﬂ;s.

’L’Mﬁn perw Tndertake to :umplete a plece

o of otk for ¥ 1,200, The first person can
W eamplete thework in 8 days, second person in
L T2 days and third person in 16 days. They

complete the work with the help of a fourth

« person in 3 days. What does the fourth person

get ?
(A) T 180 (B) T 200
(C) T 295 {I:r] T 250

Two workers A and B working together

completed a job in 5 days. If A worked twice

. as efficiently as he actnally did and B worked

-;- as efficiently as he actually did, the work

would- have been completed in 3 days. To-
complete the job alone, A would require

(W) 53 days (B) Ei- oy
th )

(c) ?% days

=]

{3)] B-E; days
f !

. A can do a piece of work in 20 days and B in

30 days. They work together for 7 days and
then both leave the work. Then C alone
finishes the remaining work in 10 days. In

SPACE FOR HOUGH wcsnn 1 6 H 5 fon TR

aday? - ; i how mﬂ'.l"l;f days will C finish the full work ?
1A} 300 (B) 1566 (A} 25days (B} 30days
() 68 5] i1 AR (©) 24 d.a;fh : (D) 20days
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18,
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Eum] r:.ampie’:ea ﬁ,wufrk in 4 “days, Thmﬂﬂ'
‘Dinesh mmp}etes the wurk in 6 days. Ramesh |.

" sworks IE ot 2 fash: as: Sunil. ‘Ihe ﬂ:[[ea iy (0 2‘? ot i

'h}gether can mmp]ete t]m work in
(A) _Iﬁ days’ {E} IE days |
g 15
€)1 5 days {D} 119 days

A farmer can plough a field Wcrrkjng 6 hours

ver day in 18 days. The worker has to work

hos many hours per day to finish the same

workin 12 days?
(A T (B} 9
{ i o (D) 13

Two successive discounts of a% and b% on the |

marked price of an article are equivalent to
the single discount of '

) ab
b¥%e g |5
(A) {a+ (B) [a +b ll}ﬂ]
i b d-+b '
" T i e o .‘.' '
() 1If|'ﬂ (D ) 'ﬁ 4

o

A tradesman marks his goods 30% more than

the cost price. Ifhe allows a discﬁ;unl; of ﬁ--;w %,

thenchis g pIin perl.:s:nt is
(BY 22%

(CY ﬁ‘l—__ _ (D) 30%

A ;-'hn;ni,}ktft:_per purchased a chair marked at
% GUD at two successive discounts of 155% and
9% rtespectively. He spent T 28 on
ansportation and  sold the chair for
< 9495. His gain percent was

) 2% (B) 30%

(C) 35% D)y 20%

The marked price of a piano was T 16,000 At

dw time pof sale, there were successive |

\(A) 144,66, 64

http://sscportal.in.
21, The third proportional of 12 and 18s.

ﬁam- got twice as many marksin English ‘as
. in .Science, His total marks in English,

Science ¢nq:'l Maths are 180. 1f the ratio of his

- marks in English and Maths is 2: 3, what are

his marks in Science 7
-(A) 30 (B) 60
(Cy 72 (D) 90

Three numbers are in the ratio2 :'?ﬂ 4. i the
sum of their squares is is m ’ihf_n the

numbers are

(A) 8,124nd 16, (B m:md 39

(C) 12,18 gml"i‘-‘ EDWNnne of the above

If ;,jt]m ﬁr;;. &m‘d by A, y rans by B anﬂ
4 Tungby @Thi‘n xay=y:7=3:3 Htotal
number of rung scored by A, B and C'is 342,

ﬂlﬂ_ﬂi]‘t& scored by each wonld be respectively
(B} 162,108, 72

(C) 180, 120,80 * (D) 189,126,84

.. 900 is di'irided- amungﬁs B, (} the division

is m:u:h that - E of A’s money = E uf Bs

money = th o es maney. Fmrl the amount.

(in ¥)received by A, B C.

(A) 300, 400,200  (B) 350, 450, 100
(C) 200,300,400 (D) 400, 150, 350

If T 12650 is divided among A, B and © in
the ratio of 2 : 5 - 4, the share of B excesds

that of A by
() T 3650 (B) ¥ 9550
(C} & 3450 Dy 33‘5['.

The average of first three numbers is double
of the fourth number. If the average of all the
four numbers is 12, find the 4% mumber.

Ifh"l ounts of 20%, 10% and 10% respm:h\'t]j' (A) 16 m

1111, The sale price was . ) 7
rﬁ.': 0720 (By T 9,750 18
; ] : Cy 20 ) P
(€ £9760 D) = 9,780 o =
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If the average of 6 consecntive even numbers

is 25, the ﬂ:ﬂ‘arencehenv&en ﬂm 131'gﬁ3t and
'l]iemmﬂegt*numbexla i g

(A 8 (B) ]U
© 12 ) 14
A train. guae- from Bﬂ]lygunge to Seal&ah at

an' average Speed of 20 km/hotr and comes:
back at an average speed of 30 km/hour. The

average Bp&mi nf the train for the whole|

_][J-'lll'tlE]i' is
(A) 27 km/hr
(C) 25km/hr

(B) 26 km/hr-
() 24 km/hr

The arithmetic mean of 100 observations is
24, 6 is added to each of the observations and

then each of them is multiplied by 2:5. Find
the new arithmetic mean .

{A) 30 {B) 75

(Cy 35 (D) 60

Sachin Tendulkar has a certain average [upl
11 innings. In the 12% innings he .gg:u%

120 runs and thereby increases IHWM >

by 5 runs. His new average is

(A) 60 (B) B2
(C) 65 (D) 66

The mra:m-fre of 11 results jg50. If the w_rngﬁ

% -'EI".

35.

of thL firsk.six resuligis 49 and that of the}-.-

l.j.%l.f.'m: 12 52, thie sixth resultis
@l O
(€, 5% (D) 56

By *elﬁngﬂ% metres of cloth o trader gains

the selling price of 5 metres of cloth. The gain

of the trader in % is
{A) 25
(C} 28

{B) 20
(D} 29

A sells a suitease to B at 10% profit. B sells it
to C ut 30% profit. 11 C pays T 2,860 for it,
then the price at which A bought it is

' m&%ufﬂala]mﬂfﬁ% She

36.

%

41.

Gita buys a plt of land for € Bﬁmshal

L

:; ._"‘ L_Q‘_ ij R
mﬂke a'p'roﬁt of 105 on t.he‘w]:m]e nmm
“hy se]]mg the remaining land, The gain % on -

~the remaining land is

W 20 © zﬂg-"

© u ) 7

An article is sold at a gain of 15%. Had it
been sold for % 27 more, the profit would
'h.nhh.. heen 2005, T}EL cosk pr]u. Iﬂrﬁcl&is
(A T500 | (B

(C} < 540 {D]

37. On selling 17 be ¥ 72800 there is a loss
equai to lhg-:pnat r:s;,‘ 5 balls. The cost
price {:g‘{}-ﬁlﬁml
(Al ‘% } (B) 50
i 55 () 60

- Sougav pmthaned 30 kg of rice at the rate of

0 per ke and 35 ke at the rate of T 11 per
¢ He mmixed the two. At what price per kg
[‘m #) should he gell the mixture to make a

. 30% profit in the transaction ?
(A) 125 - (B) 13
EU} 137 (D) 1425
. ﬂ. mtmher increased bj.r 22 ;% grives 98, The
" namber is
(A) 45 (B) 18
(€} 80 (D} 81

.. "Two ité_lms: A and B are sold at a profitof 10%
‘and 15% respectively. If the amount of profib
received is the same, then the cost price of A
and B may be

(A} ¥ 1,000, T 1,500
(B} ¥ 5,000, 2,000
(C} ¥ 3,000, T 2,000
Dy ¥ 3,000, % 5,000
In an examinalion A got 25% marks more

than B, B got 10% less than C and C got 25%
more than D. If D got 320 marks out of 500,

(A} T 1,000 (B} T 1,600 the marks obtained by A were
% _ (A) -405 (B} 450
W ¥ 2,000 ; (DY # 2500 (© 360 Dy 460
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'I'lm.e sets nf-iﬂ 50 and Eﬂ’studenbs appemﬂ

.+ for an, examination and the pass percentage
" was 100, 90 and 80 respectively. The pass

- perct‘!ﬂt&ﬂl! Ufﬂ;aﬁhﬁ]&ﬂ&tls s
By .. oy - T
. {A?f...._ﬂ__?.s ...... e
(o sk ® oz
ok ol .

)

46,

-1 a boy walks from his house to sehool 8 the
rate of 4 koo per hour; he reaches the sghool |

‘A certain distance is covered h:,r a cyclist at a

certain speed. If a jogger covers half the-
distance in double the time, the ratio of the
speed of the jogoer to that of the cyelist is

(A) 1:4 (B) 4:1 :
'[C)IE D) 2:1

J The &stam:e between "places A" and B i3

999 km, An_ express train leaves place A at 50,

6 am and runs at a speed of 555 km/hr. The

train stops on the way for 1 hour 20 minutes,
It reaches Bat

(&) 120 am
(C) 6pm ¥

(B) 12pm
(D) 11pm

10 ‘minutes em-her than the scheduled time.

However, if he walks at the rate of 3 km per :

hour, he reaches 10 minutes late. Find the

B distance of his school fram his hause.
(&) 5km (B) 4lm
{Cy 6 km (DY 45km

48,

41,

oy s

Two brwins _are running 40 kmhr and
20 kon/hr respectively in the same direction.
The fast train cumplete]_'f passes a man
sitting in the slow train in 5 secorids. The

_ length of the fast train is
' 2
£y . 1 . L
(9 275 m (I 23m

The compound interest on T 5,000 for 3 years
i 109 p.a. will amount to

a2,

53,

49,

......

I. interest at lﬁﬁml- years mmpaunﬂ’eﬂ half

J'early'?

(&) T40000  (B) 36,000
(C) £32000 (D) ¥28000

A sum of T 3200 mvested at 10% pa.
compounded quarterly @mounts to ¥ 3,362,

Guml:rul;e the time period.
i
(A) — year {H} lm

2
B .I.I_ L 1_ ..a'

(C) 2 years (D) %yém‘

IF o 'siagn ﬁ' ‘meney compounded annually
becomes 1- A4 #4imes of jtself in 2 years, then
th&;ﬂh&ﬁfmlfﬂn_m, peT annum is

(AN, 25% (By 22%
B 1% (D) 20%

A lawn i3 in the form of a reetangle having its
breadth and length in the ratio 3 : 4. The area-
of the lawn is ?l}ﬂj hectare. The breadth of the

lawn is

(A) 25 metres

(B) 50 metres
(C)} 75 metres

(D} 100 metres
A right crcular cone is 36 cm high and

. radius of its base is 16 em. It is melted and

recast into a right circular cone with radius of
its base as 1:3 cm. Then the height of the cone
{in cm) is '
(A) 36
(C) 64

{B}" 4-8
(D) 72

The area of a rectangle is thrice that of a
square, The length of the rectangle is 20 em

and the breadth of the rectangle is % times

that of the side of the square. The side of the
square, in cm, is

() % 1,654 (B) ¥ 1,665 (A) 10 (B) 20
i:r:':} “F 1,600 D) T 1,565 () 30 Dy 6O
age 8 SPACE FOR ROUGH WORK | T5 i i 18 £
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o If h* v are zespecliyely the hmsht curyid | 60: ' T & vight tircalar cone of height 24 cm h@-ﬂ*j'i'é-;
o anrfaca area anﬂ vnlum of a right circular |- W!ume of 123.? cm? then ot

ne, the of Brvhd- 'éhhav?m:.g s

o _fcune then the ?alu .

ek HE : {B} -1 .

e {G} 1 4 m} ﬂ ; ,'%1.-;-The dlmnetar of a. mrcu]ar wheel is 7 m.
BBy 'Thavﬂ\lume ::rfa Cﬂ-ﬂlﬂ&l tenhs 1232t:u mzm&-_ s How many revolutions will it make m
"~ “ihe area of its base is 154 sq. m. Find the | - - travelling 22 km ?

IEEI.gﬂ:I of ﬂJE cﬂm'-as reqmrer] _t{} }lmj:_l thﬂ et (A) lﬂp - [_B} r!l}l} .
fent, -'if - th& canvag iz 27 in ‘mdﬂ: £, “(C)-. 50D = (D) 1000
fake = -2} |62 ‘Thearea ofan equilateral triangle is /3 m?,
° ¥ 2 : : T i . am § aj_ -
(A) 570 nr‘1 - (B} 272m ‘ ‘::jlezrj%ﬂ]hnm]ﬂflhfﬂn}lea Ews
{©) 276m D) 2Bm i,

(Cy 342 (D) 242
56. Assume that a drop of water is spherical and WA W T s
i ﬂmmeter i crma-tenth L coni ol 63.. : Ifem_:h edge of a cube iz inereased by 50%, the

: 3 tage i ) face areais
A -g!asa has 4 height equal to the diameter of its’| - P e i
i T ; - (A) 125% (B) 50%
- i, If 32,000 drops of water fill the glass| -~ . ©) 1{][]% D) 5%
mmp]eteljr, _then the height of the glass i | S i
em, is ) = j8d. How l‘ﬂ&l‘_l}': tiles, each 4 decimeter square, will
X : " be required to cover the floor of a room 8 m
A _} - Py, {-E__'] 2 . - long and 6 m broad ?
(C) 3 (D) 4 . (&) 200 - (B) 260
57.  The total umber of spherical bullets, each of (C) 280 i (DY 300

diameter 5 decimeter, that. can be made by

65. If the surface areas of two spheres are ini the
~utilizing thie maxinmm of a rectangu]m- I:ﬁuek i

‘ratie’d 8, then the ratio of their volumes will

of lead with 11 metre length, 10 metre._ e be -
-_bre'ndth and 5 metre, mdlh is I:assume that{ (A 4:9 i (B) 16:27
n>3) oy - 1+ © s "27 c Oy 69
(&) equal !:_u 8800  (B) less 'u:.an'sam |66 M xmy= 333 and 7= 334, then b,
(C) equalto8400 (D) greater than 5000 of x4 3% 4 47~ By is
58, The diagonals of 2 rhnmlhus are 12 om and : Ei} ¢ o 1) EE?
16 em respectively. The length of one side is (©) 1000 (D) 2334
{8) Bem (B) Bem _ 4 . o
{Cy 10¢m (D} 12cm B If'f]_;“u 2 x=b”  E-c =4(a+b+e),
i ; 4 e a at
5% A rectangular block of metal has dimensions | . -
21 cm, 77 em and 24 em. The block has been Usen 2 18 equal
melted into a sphere The radius of the sphere (A} (a+b+ el
Ed{rﬂkﬁ -
- 2 } oo B) of 41242
tA) 21 em (B} Tem .. G abibesea
"{“‘n !4[:[?1 . (D) 28 em ﬂ}} a2+b2+c?'-ab-bc—m

)
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I‘E{x a}{x h}—l and a—b+5 ﬁ,th?en

of (a7~ b2 4 (b2 PP 4 (2o a2 s
(A) (arbi(a~1)

(B} (a+br{a+h)

{C} (a=b)(a-h)

E:Hb—cl“_

BY 2013/Page 12

"35

If' x= %‘_ rﬂ, thenthwalueuf

» A tower standing on a hoHzontal plane
* subtends a certain angle at a point 160m.

apart- from the foob of the tower On |
advancing 100m téwards it, the tower is

; found to subtend an angle twice as before.

" The height of the tower is

Rk 7.

T8,

Ci o a}3
",E.aa} ~125 (.
- - (C) 135 S T
BBH J_ J" 35, t'hen the value 0f
gk "1&‘1!'5]5 |
EQ} IR 2 )
. (DY .4
70. “The value of J;% J; 4 2%4 ..... is
(a): 2 i ®) 2
(2" D) 2
71, The value of
af8 43 . 8 .
- wy T iz
\G+6)  Wo:) (Brdp
Ay 2 B} 0
{f‘) J3 ) e
2 B+ s d=2a-b-0-3, menme
' 'value of da—8b+5e IS
@ 2 (B) 3
()5 (D) 8 .
’?:I If Sx E =3, then the value of %35+ o +2-. iy
3 X . w, * :{3 :
i
g ?5
) S SR AT
{A) g By -
T ’
Cr — i
() 5 (D} 11
T4 Out of the given responses, one of the factors

180

{A) 80°, 60, 40°

- (C) AB

(A J15 aunit

C© N7 auwit

(A) 80m (B) 100m
(€ 160m _

(D) 200m

ZA, 2B, ;_’IE are 'three :mgleﬁ of atrif{ﬁg]a If
LA~ 2B=15" £B-2C=530°then £A,
Z Prand £ C are

(BY 70°, 500, 607

(€ 80%,65°,35° (D) 80°,55°,45°

If ABC s an equilateral triangle and D is i

-point on BC such that AD L B, then
vy AB:BD=1:1

(B) AB: B}:u' 1:9
BD2:1
(D) AB:BD=8:2

AABC is an‘isoseeles briangle and

AB = AC =Jamit, BC = 2 unit, Draw
AD L BC, and find the length of AD.
(B) % a unit

(D) ﬁ;aunit -

All sides of a quadrilateral ABCD touch a|

" circle. If AB = 8 em, BC = 75 cm, CD = 3 em,

.then DA s
< Ay 3hom (B 4-5em
(C) 25cm - (D} 1-5cm

SPACE FOR ROUGH WORK /15 %id % e wan
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Ina nght-ang]ed trla;«:lg]e, t-];e pm&utt of ﬁrru

{B} 3E|°
{m 15

I two épntﬂﬁtric circlis i nf:éa:ﬁ_fllﬁ- e and.
d cm, then the length of the chord of the |.
. Jarger circle which touches the smaller cirele |-

iz
i, B ®) Tem
(O Wem

. (D) 8em,

Inside ' square ABCD, ABEC is an
equilateral triangle. If CE and BD intersect |

at 0, thm? £ BOGC is equal to
(A} 60° {B) 75
(G} 800 - (DY 1200

A point D is taken from the side 'EL- of a
rxght—angled triangle M:IL, Wh&re AB 1is
hypﬁtanuse Then

ti, AB? + 0D* 2 BCE ﬂmE

(B} D+ BD? =2 AD?

(C) AB +ACP=2 AD?

(D) AR®=AD?; BD?

; mdes 15 Equal tﬂhal'f ufthe sqmm ufthe-th:r&i i

|81,

AR msce]&s tnang}g HBG is r:ght—an.'. &d" tl':

| Q ave, the fee;t' endiculars: st
. from Don the sides’ aﬁ*mﬂf;ﬂsﬂ féﬁi:echveljr
o of ﬂ.ﬂBﬂ IfﬁP-ﬂﬁm, AQ=bem -and

B]hsa

2k 2ot S e
le ABC: P and
= ,.

Z B@ 15°, §m 'i'Ef”
-.m)" % ek =
C) -*%]—“ | (D) T’E
:Em:h interior angle of a régular uctagr:rn in
g radians is
® 2 ®» &
© 2 ol

a8,

189,

- (A) _BG.EE:E
(C) 3BC:CE_

3

D and B are t_w:l} }Ji}ints_l;ﬁ m&csides AC
and BC respectively of AABC such that
DE = 18 ¢m, CB = ki r:m anrl JHJEG QG“‘ 1f

tari £ ABC = 36, then “AC: CD.= *

(B) .‘ZGE . m::_
(D) CE:2BC.. -~

D is 4 point on the side BC of a triangle ABC

gt Let Cbe a point on a straight line AB. Circles. such that AD L BC. E s a point on AD for -
are drawn with diameters AC and AB, Let P which AE : ED = 5 : 1, If # BAD = 30° and
De any point on the dreumference of the circle s . '
with dimneter AB. If AP meets the other Fdn{% AR TR AR E
virele at Q, then ' {A) 300 (B) 45°
\A) QCIIPB 3 (C) 60° D) 15°
(B} QCis never parallel to PR- 90. M sinB+cosb= 42 cos®, then the value of
:L: Eq!L % {cos © ~ sin B) is
() 3 cosd (B} /3 sin®
EFIIE ALY : = }‘.. .
) QUEPBand QC = 5 B - (€ 42 cosd ® V2 sn0
Bww 7i)t .

SPACE FOR RCUGH WORK [ UF &1 7 170 TR
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) Sae \or. }
If15m dﬁ“ Fm&ﬁﬂﬂ“ then e i equa} iy *:::ma;erage ’Iﬁh‘anf prndi:r:tmn b the § gw&n s

B AR Dol L il o
{3}43 B 53 = . Produciwn ofpuls _3: mﬂﬂhﬂ?@}ﬁ'ﬁﬂfmsm ;

ORI, o gmﬂ i

92, " The Emgls of -'e:Iwaﬁun of a tower from a : 3
- _Iﬂmtance 50+ 1 from its foot, i is 908 The he1ght B
ofthe tcrwe:r:s ' ﬁ-
" 5nJ§'{m S W S

e T A _J._ﬂ :

_{C}'?Eiﬁ?ﬁj : m) 15 m. 2.
2 - 3 1

93.  ABCD | 15 “'TEﬂtﬂﬂﬂ'iE where the ratio of the} 018855 89-90 um A g5 i

lm#ﬂzsnfﬁﬂandﬂﬂlsﬂ E,H*Pmsthe

~ 4 million t :
mid-point of AB, then the value of s # CPB | & g s

. . ; " (B) 5 million fonnes
- X g ol .

) : B % (C) 45 millien tonmes
. (D} 55 million tonnes
o 3 4
B | i) it s

{I ) g () : -

o . _ _ Divections-: The-gnnual agricultural production
sindA sinA | ¢ ; | (in tonnes) of an Indion Sﬁar& iz given in the
.- e oA i £ e
1+008A & 1=ced B <A< 80 | chart. The total production is 9000 tonnes. Read the
'_ jJLE' i'}HIJ'I and answer quesi;mn no. 93,

(in tonnes)

) ZeosecA . T (B) ZsecA-
" (C) 2sinA () Zcos A

l.l_'iﬁ_' M orain®=1, reos (= 'ﬁ,thﬁﬂmﬂ"me ﬂf
{Jﬁ_tan'ﬁﬂ} is

& 3 _ . m L
J3
@1 o 2

$6. In a- frequency distribution, cgives are
graphical representation of -

(A} frequency

g ' 98, What is the annual producti at ?
(B} relative frequency e A

(U}Iciﬁﬂulativefreriubncy ' (A) 2750 tonnes  (B) 3000 tonnes
: gl Frdsts - ©(C) 340tomnes (D) 3500 tonnes

A LT I T ;
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!iEI" Gr-ren isa h.ue EmPh Bhﬁmg the numher af
Beie i ol i - e
45_' ;ls e -2 | '.9"7 Iftwntjplstacantj'petwnpagwmﬁ?nf
; g _ AN : 4 Tmnutea, how many typists aré nemled to type
0 20 pages in 10 minutes ?
i (A) 15
20
(B) 12
951 _
(C) 10
20 .
15 ' s
J F . M ﬁ M -J
The decrease % of accidents from May to June L ’ ,
3 v 98, If the salary of a worker is first decreased by
; 15% -and. then increased by 5%, then the
A 15%% (B) 15% % percentage effect on his salary is
(A) decrease of 10%
(© 15%% ) 15%% : (B) increase of 10%
' (C) decrease of 10-75%
\Directions : Study. the histogram of weight (D} increase of 10-75%
| listribution of different men and answer question ' ! i
1o, 100, :
99, The average of four conseentive even numbers
T : "is 27. Find the la:gest of these numbers.,
’fg? T RS
R :
5 (B) 26
BE0
s (C) 30
B 00—
AN Al oo
u i | 4 = e |-

, % % W5 15 15 185 M5 [150 A man goes from A to B with a speed of
1;{:} (Weight in kg) 6 kivhr and comes back from B to A at
¥ __ 3 km/hr. His average speed, in km/hr, is

0. Average number of men per interval who '
participated in this survey is - (A) d% (B 4
(&) 200 (B) 180 !
C) 8= Dy 3
&) 214 LDy 14 < & v
'/ 2013/Page 18 y 7 5 o
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